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QUESTION NO: 1

Which TWO of the following are BEST described as traditional escalation paths?

1. Functional

2. Hierarchical

3. Cyclical

4. Logical

A. 1 and 2

B. 2 and 3

C. 3 and 4

D. 1 and 4

ANSWER: A 

QUESTION NO: 2

When outages are repetitive and similar they become a form of toll.

Which or the following describes the MOST compelling reason to adopt advanced technologies and artificial intelligence 
(AI)?

A. To increase reliability by reducing MTTR and MTRS

B. To increase the mean time to repair services (MTTR)

C. To increase the mean tune to restore services (MTRS)

D. To increase reliability and achieve perfect MTRS

ANSWER: A 

QUESTION NO: 3

"Problem-solving with a group of people with different skillsets''

Which of the following concepts is BEST interred by the above statement?

A. Coordination

B. Collaboration
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C. Communication

D. Cooperation

ANSWER: B 

QUESTION NO: 4

Which of the following BEST describes how to contribute to achieving higher levels of availability?

1. Measuring the critical aspects

2. Maintaining a close relationship with development teams

3. Measuring staff performance

4. Maintaining a close interval between detection and correction

A. 1 and 2

B. 2 and 3

C. 3 and 4

D. 1 and 4

ANSWER: D 

QUESTION NO: 5

An error budget policy is BEST described as being designed to do which of the following?

A. Send alerts when error budget is at half

B. Shift the locus toward more innovation

C. Decide when and how to intervene

D. Prevent introduction of significant bugs

ANSWER: C 
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